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This is a plot of Coulomb’s Law for some level of charge which is not stated. It is plotted on log-log paper.  Let’s look at this a bit using some background math:
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where K is some new constant used for this calculation.  Taking logs of this equation gives us:
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For TWO values of r, we can write:
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For our situation, we do not know what the exponent is, so let’s call it “n”.  The last equation then becomes 
[image: image4.wmf]21

12

loglog

Fr

n

Fr

æöæö

=

ç÷ç÷

ç÷ç÷

èøèø

. We can use the two points indicated by stars on the graph.  
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.  On the other side, log(r1/r2)=-log(10)=-1.  So n=2/(-1)=-2 and we have an inverse square law.  You can do this same thing on your data.
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